FOSYTH J§
R

Rés}ﬂi Sehoo!
First Assessment 2012
Mathiematics

Primary 3
. Total
Name: ___
Class: Pr 3~ . ... Register No.__._ Duration: 50 min”
Date; 1t March 2012 | Parent’s Signature; __. ..

Instrmctions 1o Pupils:

1. De not-operi-this. bookiet until you are told to doso.
2. This paper-consists of 3 parts: Sections A, B and C.
3. Fallow all instructions:carefully.

4. ANSWER ALL THE QUESTIONS.

5. Check all ahswers carefully.

_‘, Maximum |  Marks Obtained
Section A 10 -
Section B 14

.‘Sec.tion"c 6

Total T 30

*This paper consists of 6 pages altogether.

This paper Is nof to be repraduced in part or whole without:-the permission of the Principal,
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Section A (5 X 2 marks)
Read the followiiig questions carefilly. Choose the comrect answer and writé
its number 1, 2, 3 or 4 in-the brackéls provided.
1. inthe nuinber 3904, the digit 0 isin the _ place.
{1).ones (2) tens
(3) hundreds {4) thousands ¢ )

2.... 6thousands + 8 hundreds + 5ones=_ ..
{1) 685 (2) 6085
(3) 6805 (4)6 850 {

3. Firid the differafce betweer 1 200 and 869.
(1) 334 (2) 341
{3) 1669 (4)2 069 : { )

4. 3 groups of 4 is the same as
(1)3+3+3 (2)4+4+4
(3)4X4X4 {43X3X3X3 ( )

5. Mother baked 3 406 cookies on Monday. The next day, she baked 284 cookles.
fess than Monday. How many cookies did she bake on both days? '

(1) 3122 (2) 3690
(3)6528 : () 7 096 ¢ )




Section B {4 X 1 mark, 5 X 2 marks)

Read the following questions carefully.. -
Wmﬂlemneqtminﬁwsmspmvided
Questions 6 —J canies 1 mark e4ch.
Questions 10 — 14 carrios 2 marks edeh.

6. Therears_ _tenisin e rimber 7 100,

7. Amange the numbers bilow from the gieatest to the smallest.

Bmallest

Greatesi

8  100°'morethan 214 is . - ' r

9.  Mark has 6 loflipops. Tom has thrice as many lollipops as Mark.
How many loliipops do they have aftogether?

hs



10.  Fillinthe boxes with the correct digits.

11, Fillin the missing fiumbers in the boxes to-complete the number pattern.

4320

4920 :> 4770 T:-> :>
FV ¥ vi TV

12. - The sum of two numbers is 5.015.
The smaller number is 1 028, N
What is the difference batween the greater and the-smaller number?




13. The picture below shows a Block weighirig two fimes as heavy as 4 star.

if thete are 3 blocks on one-side of the scale, how-many:stars are
needed to balance the scale?

14. Mr. Chan gave 4 lollipops to each of his 7 students.
Now he only has 10 loffipops leit.
How many lollipops did Mr. Chari-have-abfist?

K



Segction C (2 X 3 riatks)

Read tha followmg queslions carefully. Show your workings arid write your
niiniber aiid ahsiver statements clearly.

45,  Mefvin wanted 10 save foragit
He 'saved 7 in thefiist menth,
Tnthe fotlowing. months, he-always saved: $4 more than the previous
month. How mainy fonthis: wiil ittake him to save $102?

Workings




16. 2 ducksand 2 chickens cost$24.
A disélc costs twice ds much as aciticken.
How much does adtick cost?

‘Workirig

End of Paper
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Section A

QliQ21Q3,04]Q5
2312 |3

Section B

6.710

7. 1930, 1903, 1390, 1093
8.314

9.24

10. 6 88| 5

+ 3 0 2 |9

11.4920 — 4770—> 4620—> 4470 —> 4320
12. 3981
13. 6
14, 38
Section C
15.7+ 11+ 15+ 19 + 23 + 27 = $102
He will need 6 months to save $102.
16.2+2 =4
24-4=20
204=5
5+5=10

A duck cost $10.
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